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Solve each equation for the unknown
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2x—1=6 2x—1=6 2x—1=6 2x—1=6
4x+2 =10 4x+2=10 4x+2 =10 4x+2 =10
1-3x=-11 1-3x=-11 1-3x=-11 1-3x=-11
2x+1=x+4 2x+1=x+4 2x+1=x+4 2x+1=x+4
2(x-1)=6 2(x-1)=6 2(x-1)=6 2(x-1)=6
3X—-1=2x-4 3X—-1=2x-4 3X—-1=2x-4 3X—-1=2x-4
1+ 3x=5x -3 1+ 3x=5x -3 1+ 3x=5x -3 1+ 3x=5x -3
2t+7=t-7 2t+7=t-7 2t+7=t-7 2t+7=t-7
12 + p=2(p-2) 12 + p=2(p-2) 12 + p=2(p-2) 12 + p = 2(p-2)

16 +Xx+x=3x-9

16 +Xx+x=3x-9

16 +Xx+x=3x-9

16 +Xx+x=3x-9

5(x-3) = 10(x+2)

5(x-3) = 10(x+2)

5(x-3) = 10(x+2)

5(x-3) = 10(x+2)

%x+3=9 %x+3=9 %x+3=9 ¥%x+3=9
-X—4=3x-8 -X—4=3x-8 -X—4=3x-8 -X—4=3x-8
3k—k+4=2 3k—k+4=2 3k—k+4=2 3k—k+4=2
IX—24=3x+8 IX—24=3x+8 IX—24=3x+8 IX—24=3x+8
x-1=-1 x-1=-1 x-1=-1 x-1=-1
-5p+3=p-15 -5p+3=p-15 5p+3=p-15 -5p+3=p-15
Yap—-6=-3 Yap—-6=-3 Yap—-6=-3 Yap—-6=-3
Expand and simplify Expand and simplify Expand and simplify Expand and simplify
2(x-2) 2(x-2) 2(x-2) 2(x-2)

X(x+3) X(x+3) X(x+3) X(x+3)

3x(5-x) 3x(5-x) 3x(5-x) 3x(5-x)
(x-2)(x-5) (x-2)(x-5) (x-2)(x-5) (x-2)(x-5)
-X(x-6) -X(x-6) -X(x-6) -X(x-6)
(1+p)(p+5) (1+p)(p+5) (1+p)(p+5) (1+p)(p+5)
(atb)(a-h) (atb)(a-h) (atb)(a-b) (atb)(a-b)
2p(p+4) 2p(p+4) 2p(p+4) 2p(p+4)

Basic simultaneous equations.
Solve for x and y

Basic simultaneous equations.
Solve for x and y

Basic simultaneous equations.
Solve for x and y

Basic simultaneous equations.
Solve for x and y

X+2y=8 X+2y=8 X+2y=8 X+2y=8
2Xx+y=7 2Xx+y=7 2x+y=7 2Xx+y=7
3x+2y=19 3x+2y=19 3x+2y=19 3x+2y=19
X+5y=15 X+5y=15 X+5y=15 X+5y=15
XxX-2y=4 XxX-2y=4 XxX-2y=4 XxX-2y=4
4x + 3y =49 4x + 3y =49 4x + 3y =49 4x + 3y =49
5x+y=2 5x+y=2 5x+y=2 5x+y=2
“Ax+3y=44 “Ax+3y=44 “Ax+3y=44 “Ax+3y=44
X —2y =23 X —2y =23 X —2y =23 X —2y =23
3x + 4y = 39 3x + 4y = 39 3x +4y =39 3x +4y =39
6x —5y =-14 6x —5y =-14 6x —5y =-14 6x —5y =-14
18x -4y =6 18x -4y =6 18x -4y =6 18x -4y =6
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